Chapter 2 Activity Based Costing

Answer 1

(a)
Traditional cost per unit
	
	D
	C
	P

	
	$
	$
	$

	Material
	20
	12
	25

	Labour ($6/hour)
	3
	9
	6

	Direct costs
	23
	21
	31

	Production overhead ($28/machine hour)
	42
	28
	84

	Total production cost / unit
	65
	49
	115


(b)

Examiners note: Each step required has been given its own sub-heading to make the procedure clear. The basic principle is to find an overhead cost per unit of activity for each element of overhead cost. In some cases it might then be possible to find an overhead cost per unit directly; here it is probably easier to split overheads between each product type first and then find a cost per unit as shown.
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Comment

The overhead costs per unit are summarised below together with volume of production.
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The result of the change to Activity Based Costing is clear, the overhead cost of D and C have risen whilst that of P has fallen.
This is in line with the comments of many who feel that ABC provides a fairer unit cost better reflecting the effort required to make different products. This is illustrated here with product P which may take longer to make than D or C, but once production has started the process is simple to administer. This may be due to having much longer production lines.
Products D and C are relatively minor volume products but still require a fair amount of administrative time by the production department; ie they involve a fair amount of `hassle`. This is explained by the following table of `activities per 1,000 units produced`.
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This table highlights the problem.

· Product P has fewer set-ups, material movements and inspections per 1,000 units than or C

· As a consequence product P’s overhead cost per unit for these three elements has fallen

· The machining overhead cost per unit for P is still two or three times greater than for products D or C, but because this overhead only accounts for 20% of the total overhead this has a small effect on total cost.

· The overall result is P’s fall in production overhead cost per unit and the rise in those figures for D and C
(d)
Pricing and Profitability

Switching to ABC can, as in this case, substantially change the costs per unit calculations. Consequently if an organisation’s selling prices are determined by a version of cost-plus pricing then the selling prices would alter.
In this case the selling price of D and C would rise significantly, and the selling price of P would fall. This, at first glance may be appealing however:
· Will the markets for D and C tolerate a price rise? There could be competition to consider. Will customers be willing to pay more for a product simply because Triple Ltd has changed its cost allocation methods?

· Product P is a high volume product. Reducing its selling price will have a dramatic effect on revenue and contribution. One would have to question whether such a reduction would be compensated for by increased volumes.
Alternatively, one could take the view that prices are determined by the market and therefore if Triple Ltd switches to ABC, it is not the price that would change but the profit or margin per unit that would change.
This can change attitudes within the business. Previously high margin products (under a traditional overhead absorption system) would be shown as less profitable. Salesmen (possibly profit motivated) can begin to push the sales of different products seeking higher personal rewards. (Assuming commission based on profits per unit sold)
It must always be remembered that if overheads are essentially fixed then they should be ignored in business decision making. Switching to ABC can change reported profits per unit but it is contribution per unit that is perhaps more important.
Answer 2
(a)

Costs and quoted prices for the GC and the EX using labour hours to absorb overheads:
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(W1). Overhead absorption rate is calculated as $400,000/40,000hrs = $10/hr
(b)

Costs and quoted prices for the GC and the EX using ABC to absorb overheads:
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(c)
The pricing policy is a matter for BBB to decide. They could elect to maintain the current 50% mark-up on cost and if they did the price of the GC would fall by around 7% in line with the costs. This should make them more competitive in the market.
They could also reduce the prices by a little less than 7% (say 5%) in order to increase internal margins a little.
It is possible that the issue lies elsewhere. If the quality of the work or the reputation and reliability of the builder is questionable then reducing prices is unlikely to improve sales. It is conceivable that BBB has a good reputation for EX but not for GC, but more likely that a poor reputation would affect all products. Equally poor service levels or lack of flexibility in meeting customer needs may be causing the poor sales performance. These too will not be ‘corrected’ by merely reducing prices.
It is also possible that the way salesmen discuss or sell their products for the GC is not adequate so that in some way customers are being put off placing the work with BBB.
BBB is in competition and it perhaps needs to reflect this in its pricing more (by ‘going rate pricing’) and not seek to merely add a mark-up to its costs.
BBB could try to penetrate the market by pricing some jobs cheaply to gain a foothold. Once this has been done the completed EX or GC could be used to market the business to new customers.
The price of the EX would also need consideration. There is no indication of problems in the selling of the EX and so BBB could consider pushing up their prices by around 2% in line with the cost increase. On the figures in my answer the price goes up for a typical extension to $31,470 from $30,750 a rise of $720. This does not seem that significant and so might not lose a significant number of sales.
The reliability and reputation of a builder is probably more important than the price that they charge for a job and so it is possible that the success rate on job quotes may not be that price sensitive.
(d)
Marginal costs are those costs that are incurred as a consequence of the job being undertaken. In this case they would include only the materials and the labour. If overheads are included then this is known as total absorption costing.
Overheads are for many businesses fixed by nature and hence do not vary as the number of jobs changes. In a traditional sense any attempt to allocate costs to products (by way of labour hours for example) would be arbitrary with little true meaning being added to the end result. The overhead absorption rate (OAR) is merely an average of these costs (over labour hours) and is essentially meaningless. This switch (to marginal costing) would also avoid the problem of the uncertainty of budget volume. Budget volume is needed in order to calculate the fixed cost absorption rate.
The marginal cost (MC) is more understandable by managers and indeed customers and a switch away from total absorption cost (TAC) could have benefits in this way. Clearly if overheads are going to be excluded for the cost allocations then they would still have to be covered by way of a bigger margin added to the costs. In the end all costs have to be paid for and covered by the sales in order to show a profit.
A more modern viewpoint is that activity causes costs to exist. For example, it is the existence of the need for site visits that gives rise to the need for a supervisor and therefore, for his costs. If the activities that drive costs are identified, more costs can then be directly traced to products, hence eradicating the need for arbitrary apportionment of many overhead costs. This has the benefit of all costs being covered, rather than the potential shortfall that can arise if marginal cost plus pricing is used.
In the long run businesses have to cover all costs including fixed overheads in order to make a profit, whichever pricing strategy is adopted.
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